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MER 1

PEREE H# =8 (M
mbr B 402 ¥eEE 66,590,500
(NFR)
Z D, 402 66, 590, 500
fEIRE AR B 33 o] 47,001,133
(NFR)
M S DS 3 1, 500, 000
T AT T A IS4 1 2, 000, 000
= — WA XSt 1 1, 000, 000
7 g Bt 1 500, 000
NA VRS 1 1, 000, 000
7 7 A PRt 1 1, 500, 000
T YRR, = A 1 3, 000, 000
B SRR A S 1 1, 000, 000
F H R a4t 1 500, 000
KIFBIEF St 1 2, 000, 000
K HAE A B IERt 1 1, 000, 000
5 — = kst 2 4, 500, 000
WNT 7 —~ kSt 1 1, 000, 000
3 = ZE SRRt 1 3, 000, 000
H AR 3k st 1 500, 000
3R TRt 1 1, 000, 000
Z D, 14 22,001, 133
B -shE- A9 B 53 o] 43,997,130
(NFR)
MSD#R &4 4 2,000,000
T AT T AR A A 2 4,000,000
T AT B RIS 3 2,200,000
oA TERASH 1 500,000
7 kst 1 300,000
IR VT ARI T 7 —< RS 1 500,000
P VIR RS 1 1,000,000
Ty AP — RSt 1 2,500,000
WFnsgmE U kS 1 1,000,000
NS ST S Ve 1 1,000,000
K H AR A IRt 1 1,000,000
B SRRt 3 7,900,000
EEPANICE ¥ S 2 2,000,000
SRSt 2 1,000,000
N7 77—~ kSt 2 1,400,000
H = ZE SRRt 2 1,000,000
HARR—=VH —A 7oA MER S 2 1,000,000
3R TRt 7 4,000,000
F DA, 16 9,697,130
mi% - eER B 29 o] 19,460,000
(NFR)
M S DA 1 500, 000
T AT T A RIS 1 1, 500, 000
7 v U4 ARE 1 500, 000
= — WA XSt 2 1, 000, 000
I INVT g AT 7 — RSt 2 1, 000, 000




PEREE H# 8 (M
NG AT RS 1 300, 000
7 7 A Pt 1 1, 000, 000
R U S 1 2,000, 000
NS ST S Ve 1 1, 000, 000
K HARE IR 1 1, 000, 000
KIMBHE L TS 1 500, 000
B SRS 1 500, 000
A LR s A 1 1, 000, 000
N7 7 —~ RSt 1 1, 000, 000
H = ZE SRkt 1 1, 000, 000
H AR L3Rt 1 500, 000
H AR 3k st 1 500, 000
&I F T3k tt 1 1, 000, 000
3R TRt 2 800, 000
Z Dl 7 2, 860, 000
PERREAHERE B 25 XL 22,800,000
(NFR)
M S DA 4 2, 000, 000
7 AT T ABEERR A St 1 1, 500, 000
7 AN TER RS 1 2,700, 000
& v A A TS 1 500, 000
7 g Bt 2 1, 300, 000
SR INT 4 AT T 7 —<ERSH 1 1, 000, 000
/NEFER L TR ST 1 3, 000, 000
B RS 3 1, 600, 000
H3 = ZE SRRt 1 2, 000, 000
HARA—F 14U U —#tt 2 1, 700, 000
HARR—Y > — oA TN AR ESHE 1 500, 000
B TS 1 300, 000
Z DA, 6 4,700, 000
HIEERAR B 53 ETC] 34,029,487
(NFR)
M S Dk 4 2, 000, 000
T AT T AR A S 1 1, 500, 000
7 AN T ER RS 1 600, 000
7 v U4 ARE 2 1, 000, 000
= —H A S 4 2, 500, 000
B Y 7 TSt 1 700, 000
TY R R A Y — AR 1 6, 250, 000
ety o7 1 200, 000
RFRIERR A 1 1, 000, 000
KIS TS 1 1, 000, 000
B RS 1 1, 000, 000
SN TER Y S n 1 1, 000, 000
3 = ZE SRk it 1 500, 000
Wk oD F& BUERIR S 4 2 600, 000
Z D 31 14, 179, 487
ZER B 9 ot ] 7,499,000
(NFR)
= — WA XSt 2 1, 500, 000
B RS 1 1, 000, 000
3R TRt 1 300, 000
Z Dl 5 4, 699, 000
DEARRE B 2 bt l] 2,300,000
(RER)
Z Dt 2 2,300,000




PEREE H# 8 (M
0% 25 I EL B 19 fe%m 25,100,000
(NFR)
M S Dkt 2 1, 000, 000
T AT T AR A S 1 1, 500, 000
7 A N7 ER RS 2 4, 000, 000
TT0 0 « AI AT T4 MRS 1 2, 000, 000
JINVTF 4 AT 7 — RS 3 4, 500, 000
7 7 A PRt 1 2, 500, 000
< VRS 1 1, 000, 000
AR S 4 1 300, 000
BiTUGE ST Y SN 1 500, 000
KIS TS 1 500, 000
B SRS 1 300, 000
WANT 7 —< RSt 1 500, 000
HARNR—=U > H—A TP NnA DS 1 3, 000, 000
Z DA, 2 3, 500, 000
EERE B 20 fe%m 16,659,825
(NFER)
= —H A S 1 500, 000
I INVT o AT 7 — R Ett 3 1, 500, 000
AN7u— 7 At 1 1, 000, 000
ety o7 1 100, 000
XSt 7 v hAKE 1 1, 500, 000
WFnsEREx U ket 1 500, 000
£ H R 1t 1 500, 000
KIS TR A S 1 2, 000, 000
B SRS 1 500, 000
A LR S A 2 5, 000, 000
H AR L3Rt 1 300, 000
3R TRt 1 500, 000
Z Dl 5 2,759, 825
BF - BB - BEEAR B 68 bt ] 33,320,000
(NFR)
M S DA 1 500, 000
7 AT T ABEERR A St 2 1, 000, 000
= — WA RSt 1 500, 000
& v A TR S 1 1, 000, 000
I INVT 4 AT 7 — RSt 1 1, 000, 000
7 7 A PS4 2 2, 000, 000
ANTwr— ) RSt 1 500, 000
JEAbRL 7 7 — < kR ett 1 1, 000, 000
ety o7 2 300, 000
M Ettv 7 v hAKE 1 1, 000, 000
KIS TS 2 3, 000, 000
B SRS 1 300, 000
AR S A 2 1, 300, 000
J =R Y S 1 200, 000
3R TRt 2 2, 500, 000
PSOF (8 ¥ S o 1 200, 000
Z DA, 46 17, 020, 000
BEAR T e 1 A 100,000
(NFR)
Z DAl 1 100, 000
#iE-BE-WERENE B 99 EEC] 43,030,000
(NFR)
M S Dk 1 500, 000
T AT T AR A S 1 1, 500, 000
Bty L5 1 100, 000




PEREE H# 8 (M

B RS 1 500, 000

A LR S A 1 1, 000, 000

B T3S 1 500, 000

Z DA, 93 38, 930, 000

ILBR - A B 11 EEC] 6,850,000
(NFER)

7 AT T ABEERR A St 1 500, 000

7 AN TER RS 1 900, 000

= —H A S 3 1, 500, 000

I INVT 4 AT 7 — RSt 1 1, 000, 000

R U S 1 500, 000

KIS TS 1 1, 000, 000

BEPANCE Y e 1 1, 000, 000

Z DA, 2 450, 000

g ENE B 35 fe%m 13,683,200
(NFR)

M S Dk 1 500, 000

T AT T AR A S 1 500, 000

= —H A S 1 1, 000, 000

7 7 A PRt 1 1, 000, 000

JEAbRL 7 7 — < kR tt 1 500, 000

KIFBIEF St 1 500, 000

B SRS 1 300, 000

HARNR—Y > — oA TN AR ESHE 1 1, 000, 000

H ARSI Rt 1 200, 000

3R TRt 1 300, 000

Z D 25 7, 883, 200

BEAR HBHEH 107 bt ] 51,872,000
(NFR)

M S DA 1 500, 000

7 AT T ABEERE A St 1 500, 000

= — WA RSt 2 1, 500, 000

BETUGE ST Y SN 1 500, 000

RGeS S 1 500, 000

B SRS 1 1, 000, 000

A LR s A 1 2, 000, 000

N7 7 —~ RSt 2 1, 000, 000

H ANk S SRk it 1 500, 000

B T3S 1 200, 000

Z DA, 95 43, 672, 000

Rk EL B 15 fe%m 1,000,000
(NFR)

Z D 15 1, 000, 000

FREERL HBHEH 19 bt ] 6,270,000
(NFR)

M S Dk 1 500, 000

AT BIIERR 1 200, 000

B RS 1 400, 000

H Al s Sk N 1t 1 100, 000

Z D 15 5, 070, 000

EIMEER HBEH 12 A 10,360,000
(NFR)

7 A N7 ER RS 1 800, 000

BTUGE ST Y SN 1 1, 000, 000

R U S 1 500, 000

/B IR L T 3RS A 1 2, 000, 000




PEREE H# 8 (M
KMBEE 5 T3k At 1 500, 000
BRPAN:CE Y e 1 1, 500, 000
HARA—F4 Y U —#tt 1 1, 000, 000
HARR—VY I — A 7oA AR STE 1 1, 000, 000
Z DAl 4 2, 060, 000
IR 252 HWEH 23 #HE 16,028,200
(NFR)
Me i jiSeika7yLvilath 1 300, 000
7 AT T ABEERR A St 1 500, 000
7 7 A PS4 1 1, 000, 000
TUR N2 — AR S 1 2, 000, 000
/B ER L T 3ERR U S A 1 500, 000
KMBEE 5 T3k At 1 1, 000, 000
BEPAN:CE Y S 1 300, 000
H ARkt 1 200, 000
B T3S 1 500, 000
Z D 14 9, 728, 200
#Ha® B 14 HeEE 9,400,000
(NFR)
7 AT T ABEERR A St 1 1, 000, 000
7 7 A PS4 1 1, 500, 000
JEALRL 7 7 — < kR ett 1 1, 000, 000
BETUGE ST Y SN 1 500, 000
RISkt 1 300, 000
N7 7 —~ RSt 1 500, 000
H ARSIkt 1 300, 000
B T3S 1 300, 000
Z DAl 6 4, 000, 000
wBAR B 2 o] 1,200,000
(WER)
I—HPA1HKASH 1 1,000,000
7Dt 1 200,000
E#R HWEH 34 #HE 40,100,000
(NFR)
&I ISR A S 1 300, 000
& v A A TS 2 1, 000, 000
BTUGE ST Y SN 1 500, 000
RISkt 1 500, 000
Sty L5 2 13, 000, 000
R U S 1 1, 000, 000
£ H R 1t 1 500, 000
KMBEE 5 T 3Rk 4t 1 1, 000, 000
B RS 1 400, 000
BEPAN:CE Y e 1 1, 000, 000
H AT 3Rt 1 500, 000
Z D 21 20, 400, 000
WhRERE B 18 fezm 13,700,000
(NFR)
7 AT T ABEERR A St 1 3, 000, 000
7 AN TER RS 1 1, 000, 000
7 g Rt 1 400, 000
7 7 A PRt 1 1, 000, 000
JEAbRL 7 7 — < kR tt 1 500, 000




PEREE H# 8 (M

A RIS R 4 1 300, 000

B SRR A S 1 300, 000

R U S 1 500, 000

KIMBHE L TS 1 500, 000

B RS 1 1, 000, 000

H A b3t 1 200, 000

H AT 3R Nt 1 1, 000, 000

3R TRt 1 500, 000

Z Dl 5 3, 500, 000

HERE B 19 prt ] 24,000,000
(NFR)

T AT T AR A ST 1 1, 000, 000

= —H A S 1 1, 000, 000

I INVT 4 AT 7 — RSt 1 1, 000, 000

7 7 A PS4 1 2, 500, 000

R U ke 1 500, 000

RFRIER A 1 1, 000, 000

K HAFE A B IERt 1 1, 000, 000

3 = ZE SRk it 1 1, 000, 000

3R TRt 1 400, 000

Z D 10 14, 600, 000

Bt o B 34 bt ] 19,580,000
(NFR)

M S DA 1 500, 000

= —H A S 1 1, 000, 000

7 g Bt 1 1, 500, 000

RFRIER A 1 1, 000, 000

A LR S A 1 500, 000

3 = ZE Skt 1 500, 000

HARNR—Y > — oA TN SRR ESHE 1 500, 000

Z D 27 14, 080, 000

Fisd I B iR R B 12 XL 4,596,000
(NFR)

Z DA, 12 4, 596, 000

ARl B 16 fezm 12,199,000
(NFER)

Me i jiSeika7yLvilath 1 500, 000

T AT T A RIS 1 1, 000, 000

= — A S 1 500, 000

7 7 A PRt 1 1, 000, 000

BiTUGE ST Y SN 1 500, 000

KIFBIEF St 1 1, 000, 000

K HARE IR 1 500, 000

Z DA, 9 7,199, 000

NEFR B 20 fezm 13,595,000
(NFR)

7 AT T ABEERR A St 1 1, 500, 000

= — WA XSt 1 500, 000

7 g Rt 1 500, 000

7 7 A PRt 1 1, 500, 000

< VRS 1 200, 000

WFnsEREx U ket 1 500, 000

BEPANCE Y e 1 500, 000

N7 7 —< RSt 1 500, 000

HARA—F4 Y U —#tt 1 700, 000

Z DA, 11 7,195, 000

BIEl B 3 fezm 3,800,000
(NFR)

Z Dl 3 3, 800, 000




PEREE 43 8 (M

NRAE B 56 fe%m 12,520,000
(RED)

Z Dt 56 12,520,000

BEF B 24 bt ] 28,759,786
(NFR)

7 v U4 AREt 1 1, 000, 000

= —H A S 2 1, 000, 000

I INVT 4 AT 7 — R EStt 2 3, 500, 000

< VRS 1 3, 000, 000

PRYORCE ¥ S 1 500, 000

MAEHR—T 771~ 1 400, 000

WFnsEREx U ket 1 1, 500, 000

RFRIERR S 1 500, 000

A LR S A 1 300, 000

J= =R Y S 1 1, 000, 000

H3 = ZE SRRt 1 1, 000, 000

Z D 11 15, 059, 786

AR%} B 109 bt ] 65,022,000
(NFR)

7 7 A PRt 1 1, 000, 000

Dt & RSt 1 1, 000, 000

2 R BUIER t 1 5, 000, 000

RFRIER A 1 1, 500, 000

B — = ket 1 500, 000

Z D 104 56, 022, 000

HEMmuE - SASEZRAR B 57 ot ] 14,090,000
(NFR)

T AT T AR A ST 1 500, 000

= —H A S 1 500, 000

VAL %t 1 500, 000

AN u— 7 At 1 300, 000

B SRR A S 1 500, 000

KMEEE 5 T3k S At 1 500, 000

H A b3t 1 100, 000

H AT 3R Nt 1 300, 000

3R TRt 1 200, 000

Z D 48 10, 690, 000

BAEREHY HF BHH 2 bt L] 1,200,000
(NFR)

Z DA, 2 1, 200, 000

TADAE B 6 fe%m 7,750,000
(NFR)

= —H A S 1 1, 000, 000

2= — B Uy N UBAS 1 1, 500, 000

hFnssEEx U ok tt 1 500, 000

KIFBIEF St 1 3, 000, 000

Z Dl 2 1, 750, 000

REBFEF VU /Rl B 3 ot ] 1,800,000
(NFR)

Z DA, 3 1, 800, 000

=R EE R T e 7 HeEE 4,200,000
(NFR)

= —H A S 2 2, 000, 000

JINVT 4 AT 7 — RS 1 1, 000, 000

B RS 1 300, 000

Z DAl 3 900, 000




PEREE 43 8 (M

BaHRAER HBEH 16 #HE 6,400,000
(NFR)

X v A A TS 1 300, 000

YU 7 HEH TR A 1 300, 000

KMEEE 5 T3k S At 1 500, 000

H AR L3Rt 1 200, 000

Z D 12 5, 100, 000

aHREZ Rl HWEH 16 A 10,900,000
(NFR)

= —H A S 2 1, 500, 000

TR St 1 1, 000, 000

B RS 1 4,000, 000

Z D 12 4, 400, 000

gz EZEE B 8 HeEE 6,025,000
(NFR)

Z DAl 8 6, 025, 000

REER HBEH 11 #HE 7,131,510
(NFR)

M S D#EH =t 2 1, 000, 000

7 AT T ABEERR A St 1 1, 500, 000

K HARE IR 1 1, 000, 000

B SRS 1 1, 000, 000

Z DAl 6 2,631,510

BEMGHatEy2— B 1 HEE 8,595,000
(NFR)

Z Dl 1 8, 595, 000

REMEERRE ZIED B 4 HeEE 8,882,000
(NFR)

7 Z v RIS 1 200, 000

RSty L5 1 7, 000, 000

Z Dl 2 1, 682, 000

& # L EEER B 1 HEE 500,000
(NFR)

Z Dl 1 500, 000

[ 2R 1B HEE LR T e 1 HeEE 1,000,000
(RER)

T AT 7 ABEKRASH 1 1,000,000

EgMELr 42— B 2 HEE 183,000
(RER)

Z D 2 183,000

EHIEB HWEH 13 #Hm 9,600,000
(NFR)

= —H A S 1 500, 000

XSt 7 v hAKE 2 600, 000

£ H R 1t 1 500, 000

KMEEE 5 T3k At 1 500, 000

B — = ket 1 500, 000

BEPANCE Y e 1 500, 000

SN TER Y S N 1 200, 000

34 = ZE SRk it 1 500, 000

3R TRt 1 300, 000

Z Dl 3 5, 500, 000




PEREE 43 8 (M

SRR AR B 4 ETL] 1,150,000
(NFR)

Z Dl 4 1, 150, 000

EIEER HBHH 1 ¥esm 1,000,000
(ZEN)

Z DA, 1 1, 000, 000

REHEEER B E B 1 L] 100,000
(NFER)

Z Dl 1 100, 000

B RISEOREN R BHH 2 ¥esm 1,800,000
(ZEN)

Z DA, 2 1, 800, 000

wEEREEREER B 4 L] 2,600,000
(NFR)

Z Dl 4 2, 600, 000

RIFEER B 6 ¥esm 2,950,000
(ZEN)

Z DA, 6 2,950, 000

KREEER B 1 EEC] 100,000
(NFER)

Z Dl 1 100, 000

K& EER BHH 1 ¥esm 500,000
(ZEN)

Z DA, 1 500, 000

SAEAm OB ERED B 1 L] 2,000,000
(NFR)

Z Dl 1 2, 000, 000

FRRAREE > 2 — HBHH 3 ¥esm 3,914,605
(ZEN)

AANR—Y v — A A SRR 1 300, 000

Z Dl 2 3, 614, 605

EMARwREESHRFTERF HBHH 3 ¥esm 2,000,000
(ZEN)

Z DA, 3 2,000, 000

st 1,571 822,793,376

WPERO T20f) 13, AAREE T3S BRI O35 b OSEF%5 I 4 4 30
FRR2TAEE BFH IR @ FR2744A 1H 25 FiR284-3 A 31 H)
PEREE 4% 8 (M

Ak B 1 fesm 0
(NFER)

Z D, 1 0

HIEERAR B 1 L 21,900
(NFR)

Z D, 1 21, 900

BERns B 1 ETEL] 270,000
(NFER)

D, 1 270, 000

BAEBFErZ2— B 1 feEa 202,480
(NFR)

AT I v 1 202, 480

¥ Et 4 494,380

MNIRD T2 13, AARET RS BRI OREE ) b OB & Fl




